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Introduction

The IELTS Academic Writing module lasts one hour and there are two tasks. You are advised to
spend 20 minutes on Task 1 and asked to write at least 150 words. For Task 2 you are advised to spend
40 minutes and asked to write 250 words.

In both tasks, you are assessed on your ability to write in a style that is suitable.

Task 1

In Task 1 you are asked to describe data, presented as a graph, chart or table, or a diagram such as a
map, plan, or process, using your own words.

1 Name the charts below:

Example: 1 (stacked) bar chart

1 2
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5 | Years | 2005 2010 2015
ShopA | 3,679 4,881 8,880
Shop B 22 765 15,006 7,009

2 Look at the charts again and decide whether the statements below are 'true’ or 'false'.

1 Only the line graphs show trends

2 Pie charts normally present proportions in percentages, but they can also present numbers.

3 Bar charts sometimes don't have years.

4 Stacked bar charts like 1 above present information in the same way as pie charts.

5 Tables should be read mainly from left to right but at the same time from top to bottom for the

headings in the rows.



Graph

1 Look at the Task 1 question and model text below. In the model answer, find:

1 the overview

2 examples of complex sentences

3 examples of language of comparison

4 sentences where high access and high equipment costs are described.




WRITIMNG TASK 1
Your should spend about 20 minuates on this sk,

The graph below shows the percentage of howsehalds not having internat access
by reason m Great Britain befween 2008 and 2014,

Summarise the infarmation by salecting and reporting the main features, and make
Compansons where refevant

Write at lemst 150 words.

Percentage of households not having intemet access by reason in Great Britain
% af households wilhoul infernel access
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The chart compares vanows reasons why houssholds in Great Britan lackintemet acoass

bebween 2008 and 2014

Cwerall, it is clear that regarding the two main regsons, not needing the infemet and a lack
of skills, the trend was Lpwards throughout the penod, while that for the ather reasons
was fairly flat. For example, approemately one thind {about 34%) of households did not
need intemet access in 2008 compared to more than a half [approximatety 545 in 2014.

By conirast, while there was a sz in the propertion of houssholds without internet
aceess because of lack of shills, from about 15%in 2008 to just over 30% in 2014, the
trend in the proportion for high equipment costs was stightly downwards, 10% compared
to 13% in 2000 and 2014 respectively. As regards high access cost, the trend was flat

with a peak of about 15% in 2010 from L1% in 2008, but privacy and security was less of

a concerm with the proportion giving this resson, howeser, doubling between 2008 and
2014, fram approxmately 3% to 6%,



Bar chart

1 Look at the Task 1 question and the model answer below. Complete the model answer
by inserting the following data into the gaps.

a just under 25%

b 33% in 2008 in comparison with about 58% in 2012

¢ from just over 40% to about 60%

d (just over 60% in 2008)

e about 35% to about 55% in 2012 with a peak of about 58% in 2011.

WRITING TASK 1
You should spend about 20 minuees on this task.

The chart below shows the proporion of Businessos making e-COmimerce purchases
by indusiry in Great Britain between 2008 and 2072

Summarnse the informabion by selecting and reporting the main Fealtures, amnd make
COMpaEons where relevant.
Wrrite at least 150 words.

Proportion of businesses making e-commerce purchases in industry
in Great Britain between 2008 and 2012
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The bar chart provides information about the proportion of businesses purchasing items
onling according o industry in Great Britain between 2008 in 2012,

Generally speaking, the proportion of businesses involved in e-commerce purchases
across the years and sectors varied with the practice being most commaon in the information
and communications induestry. In this sector, there was a greater proportion of businesses
imvolved1  than the other sectors with a rise to just under T0% in 2012,

including a peak w about 75% in 2011, The proportion of businesses involved in purchases
onling in the retail sector followed a similar patern, increasing from2

3 __ of construction businesses used online purchasing in 2008 compared o
more than a half in 2012, whereas in the wholesale industry the rise was much smaller
4

As regards manufaciuring, there was a near 100%: increase in the proportion of businesses
purchasing online from about 5




Pie charts

1 Study the Writing Task 1 and the model frame below. Complete the model answer using your
own words.

WRITING TASK 1
You should spend about 200 minutes on this task.

The pie charts below compare the hours worked by employess and self-employed
homeworkers in 2004 in the UK.

Summarise the information by selecting and reporting the main fealures, and make
Compaisons wheare rofevant.

Write at least 150 words.
Average working hours for employees and self-employed

The pie charts show the number of hours worked by beo catogorics of poople,

hormewaorkers who are sclf-employved and employees, in the UK in 2014.

Generally speaking, it is choar that homoworkers wiho ane self-ermployod work fewer

hours on average than employees with 1 .For

cxample, a greater proportion of cmployees [31.4%) worked 2
. Likewise, while just over a third of self-crmployed workers (34.5%) work

betwioon 30 and 45 hours,

3 . By contrast, there is a marked difference

betwoen the bwo groups when it comes toworking 30 hours or less.

In this category, 4




Table

1 Study the Writing Task 1 and the model answer below. Identify all the examples of comparison
in the model. Decide what types of comparison are used, e.g., comparative adjectives or adverbs,
conjunctions, or other:

WERITING TASK 1
You should spend about 20 minutes on this task.

The tabile betow provides a breakdown of the amount of different ceveals produced
by seveval countmes in Euwrope in 2000

Summanse the informabon by selecting and repaorbing the main Features, and make
COMPaSons where rclevant.

Write at least 150 words.
Production of cereals by country in 2000

el =
spelt ™

Belgium 1.919 400
Bulgaria 5,319 28 851
Czech Republic 5,442 130 1,967
Drenmark 5,153 G7E 3,548
Germany 2571 3,854 11,563
France 3rsm 128 11,775

* an ancien grain 1hal is a sub-species ol wheal ™ a ciop of wheal and rye grown logether

The table showes the wolune of vanous types of coreals that were produced in a sclection
of Curopcan countries im 2000, Chwerall, it is clear that France and Gemmany produce the
largest amounis of the cereal crops with Belgium producing the keast.

Tihe: wolume of comimon whcat and spelt, for ccample, produced in Germmany was 27,711
tons comparced to 37,501 for France and 5,153, 5,442, 5319 and 1,919 for Denmark, the
Croch Republic, Bulgara and Belgiurm respectively. By contrast, Francoe produced oy
128 tons of nye and maslin as opposcd to 3,854 tons in Goermmany, with no data available
for Belgium. Likewise, Denmark produced 678 tons in contrast to 120 tons in the Caech
Fopublic and anly 28 tans in Bulgarnia.

The largest producer of barley was France with 11,775 tons followed closcly by Goermmany
with 11,563 tons. By comparison, Denmark produced more barkey than the Czech
Ropublic, Bulgaria and Bolgium together, 3,548 tons against 1,967 tons, 851 tons and 400
Lons, respectivehy.

comparative adjectives or adverbs:
conjunctions:

other:

prepositions:

zero relative:



Plan A

1 Look at the Task 1 question and the overview in the model answer. Find three nouns in
the overview that relate to type of changes that are then described in the model.

2 Find examples of each noun in the model answer and paraphrase the overview.

relocation:

addition:

replacement:




WHITING TASK 1

You should spend about 20 minutes on this task.
The diagrams betow show the chamges i the giound foor plan of an office between
2010 and 2078
Summarnse the informabion by sefecting and reporting the main fealures, and make
COMParsons where relevant.

Write at least 150 words.

Floor plan . ;
pl Receptiondesk o Ofice: for e far Ofice far
W warkers 10 workers 10 warkers

The plans illustrate how the ground floor of an office was modified from 2010 to 2016,

Overall, itis clear the ground floor of the office undenwent a complete transformation
betwoen the six years with the relocation, addition and the replacement of various
facilitics. First all, between 2010 and 2016, the reception was moved to the right hand
side of the entrance. New scating ancas were alsointroduced to the left and right of the
cntrance with a now clectrionic tumstile being added just between the reception anca and
the lift and stairs. Another addition was the clectronic databank tothe right of the fifts.

By 2016, the throe offices for 10 workers cach on the left hand side had boen furned into
an open plan office for 45 workers. Moreover, the kitchenand staff lounge at the back had
been replaced with moecting rooms. Similary, the tvo offices for 10workers on the right had
been twmed into an office for 30 workers. Meanwhile, the boardroom rermained the samic.



Plan B

1 Look at the Task 1 question and model answer. Add words and phrases from the diagrams to
complete the model answer.

WRITING TASK 1
Yo should spend alxowui 20 minuies on ths ask.

The street plans bafow showw 3 residential ares with a park and plapgroond in 2076
and the proposed changes for 2025 to make it safer for families and chiloiren.

Summarise the information by selecting and reportimg the main feafures, and make

CompanEoEs witere relevant
Wirile al beast 150 words. . u
&
Streat plan 2016 . Street plan 2025 1 .

The plans illustrate the layout of the streets in a residential area with a park and playground
in 2016, along with plans for modiications for 2025 to ensure the safety of familes and
children in the anea.

Cenerally spealkang, it is Chear that vanous messures to prevenit chitdren running on to the
road and to slow down the traffic, such as the safety 1 o - . traffic Bght=

aind & zebra crossing will be mtrodueced. For example, thene =8 proposal to introduce
railings on both sides of the 2 at the entrance to the

5 - __with the playground. In addition, a 4 __ SN _wiill

be added just before the junchon of 5 west of the park and the
High Road.

Anotherplanistoturnithe &
Bridge Strect, Bond Way and Hatton Averwsemca 7 with a zet of
8 at the jumction of each street with the roundabot

-



Process

1 Study the Task 1 question and the model answer below. Find:

1 the overview

2 the steps in the progress

3 examples of linking devices

4 examples of intransitive verbs

5 examples of complex sentences.

2 Estimate the length of the text. Does it follow the word limit?



WEITING TASK |
You should spend about 20 minutes on this task.

The ckagrams biowy showr the process of slecincly generation e5iag a0 aificial
Summarse the informadion by selecting and reporting the main fealures, and make
COMParSors where rlavanl.

The diagrarms show haw fidal power is used to generate docticity in an artificial lagoon.
Overall, the produciion of the enengy from Edal power using the artificial circular lagoon
irvobvies several stages relating to the opening and dosing of the inflow and outflow gales
i e lagon. The toe ancund the artiical lagoon falls and ises twicc aday. Frst of all,
befare the high bide comes ntothe estuary, the inflow gate s opened to dlow the water
toflow into thix Bgoon and at the same time the outflow gate is closed to prevent the
water 2scaping again. Then, when the tide is at its highest, the lagoonis full of wator.
Subsequentty, a5 soon as the Goe tumms and it i at ks lowest eved, the inflow gate is closed
and the oukflow gate, towhich 2 turbine is attached, is opened and the wator flows out of
the booon, generating cleciricity.

Thewhele process repeats iself twice aday overy 12 hours.



Task 2

In Task 2 you are given a point of view, argument or problem . Assessment for Task 2 is based on

you ability to:
e present and support your opinion e evaluate and challenge ideas,
e compare and contrast evidence and opinions evidence or arguments
e write a solution to a problem e write in appropriate style.

1 Analyze the Task 2 question below using the following:

the suggested time limit the possible organization of your answer
the statement in the topic to be discussed the standard/ generic rubric

the specific questions related to the topic possible ideas

the minimum number of words the general nouns in the questions

(and think of the maximum)

WRITING TASK 2

You should spend about 40 minutes on this task.
Write about the following topic:

Health experts say that walking is a good way to improve the health of the general
public, but nowadays people are walking less than ever before.

What are the causes? \What measures could be effective?

Give reasons for your answer and include any relevant examples from your own
knowledge and experience.

Write at least 250 words.

2 Label the beginning of a possible answer for the Task 2 below using the following items:

1 topic sentence x2 4 example 7 reason or cause (2)

2 general statement or hook 5 condition 8 aresult

3 reason or cause (1)

6 possibili ibl It
possibility/possible resu 9 a solution



With the advances in technology, people’s lifestyles are changing and are becoming
MuCh more sedentary. A a resull, people are walkmg lzcs, There are many factors
behinds this development, but there are many approaches that can be taken to deal
with the situation. The main factor behind the decrease inwalking among the general
population s the modern lifestyle that is much maore sedentary, especially for people
warking in offices. For example, if people are sitting at adesk in an office for long
pericds of ime rather than doing manual work on the land, this can reduce the time
for people to do simple actvities like walking. Moreaver pecple are mare inclined to
travel by car or bus 50 thereis [ess need for people to walk. In many cases people do
nat walk for more than a few minutes each day. The main solution is to encourage
people through advertising to become more physically active. Such encouragement
should start in.




3 List the perspectives you can use to collect ideas for one or more of the Task 2 questions below,
e.g. for 1, educational, technological, mental, physical, future, employment, etc. Are any of the
perspectives you chose relevant to other tasks below?

POSSIBLE ANSWER:

4 Compare the organization of the two of the four Tasks 2 questions below.

POSSIBLE ANSWER:




1 WRITING TASK ?
You should spend about 40 minutes on this task.
Wrile about the following iopic:
Soime pEnpie baleve that sftware programming shoukd be faught af pamary school,
(rthvers think that the foous at this lae! should be on playing.
Discuss both these views and Qive your own opinion.

iCive reasons lor vour answer and include any relevant examples lrom your own
knowledge and expericnoe

Wielte at baast 250 words,

2 WRITING TASK 2
Yt shosukd sprenad abwout A0 minutes on tiis lask,
Wreite about the Tollowing logale:

Nowadaws mone and move museums and artqallenss around the workd ane putting
their materal confents omine. Do you think fus &5 a posithve oF negatie development ?

Ceve reasons Tor vour answer and inclsde soy relevant examples lrom your own
knowledge and experience.

Wreite at st 250 woads,

3 WHRITING TASK 2

You should spend about 40 mimutes on this lask,
Wrile about the following iophe:

The bestway for employers o make ther workforce Bapny & alow thiesm more Reatie
working houwrs.
T what extent do pou agree? What other measures could be effechive?

Gave reasons for your answer and include any relevant examples lrom your swn
knowledge and experience.

Wieile at bsast 250 words,

4 WHRITING TASK 2

You should spend about 40 minutes on this task,
Write about the following lopic:

Inn et miaderm workd, many employees lack saft skills sich as communicalion amd
working in feams,
What are the main causes of this problem ? What are the effects of the ok of such diills?

Gove reasons for your answer and include sy relevant examples [rom your swn
knowledge and experienoe

Wirlte at beast 250 words,




5 Look at the introduction, topic sentences and the conclusion for the Task 2 question
below. Paraphrase the introduction and the third topic sentence.

WRITING TASK 2
You should spend about 40 minutes on this task.

Write about the following topic:

Some people believe that software programming should be taught at primary school.
Others think that the focus at this level should be on playing.

Discuss both these views and give your own opinion.

Give reasons for your answer and include any relevant examples from your own
knowledge and experience.

Write at least 250 words.

At primary school, the curriculum is constantly changing to keep pace with the
modern world. While it is argued software programming should now be part of the
curriculum at this level, others feel that the focus should be on play. | feel that children
need to play more at this stage rather than being bombarded by more technology.

On the one hand, software is considered as important for primary school children.
On the other hand, playing is much more important at this level.

Having examined both these views, | am more inclined to agree with the latter view,
but | also feel that the focus in the modern world on technology is an important skill for
children to learn.

Software programming and playing are both important for the development of
children, but | personally feel that play is more important in a child's development at
the primary level

POSSIBLE ANSWER:



6 Write an introduction for the Task 2 question below.

WRITING TASK 2
You should spend about 40 minuwtes on this task.
Write about the follewing topic:

Nowaoays move and mare museums and art gailenies around the wonld are putting
their matenial contants andine. Do yow think this is 8 posiive o negative development?

Give reasoms for vour answer and inchede any relevant examples from vour own
knowledge and experience.

Write at least 250 words,

Introduction.
Thete is no denying that having miseum art gallery content available on the intarmet

might encourage people not to visit them.

Personally, howeyer, | feel that it is a major step inthe right direction for educational
I8350ns. Another fes0n, in my opinion, s that it brings artifacts to the attention of
people who might not otherwise be able to see them.

As we fiave seen, despite there Deing some sound arguments aainst the develapment
of museums and art gallenes making their contents avalable for public viewing onling,
thiz isin the main a positive development.

POSSIBLE ANSWER:



7 Add the following phrases to the introduction, topic sentences and the conclusion of the
Task 2 question below:

a another strategy is to make sure that

b is certainly a sound way of making workers happier
¢ while I feel that this is a good approach

d there is no doubt that this is an effective approach

WRITING TASK 2

You should spend about 40 minutes on this task.

Write about the following topic:

The best way for employers to make their workforce happy is allow them more flexible
working hours.
To what extent do you agree? What other measures could be effective?

Give reasons for your answer and include any relevant examples from your own
knowledge and experience.

Write at least 250 words.

Employers are always considering different methods to make their workforce happy,
such as permitting them to work in a more flexible way. 1 . there
are others which could be equally or more successful. Giving workers the opportunity

to be flexible as regards their working hours 2 y
3 , but another more effective way would be to ensure that

workers are paid properly.

4 the work environment is suitable for all workers. In
conclusion, despite the approach allowing employees to work mare flexibly being a
sound approach, paying workers and making the work environment more comfortable

are equally important strategies.



8 Write an introduction, topic sentences and the conclusion for the Task 2 question below

WRITING TASK 2

You should spend about 40 minutes on this task.
Write about the following topic:

in the madern world, many employees 1ack soft seills such as commurication and
Warking in teama.
What are the main causas of this problem? What are the effects of the lack of such skifs?

Give reasons [or vour answer and include any relevant examples from vour own
knowledze and experience.

Write at least 250 words.




9 Complete your answer to the Task 2 question below.

WRITING TASK 2

You should spend about 40 minutes on this task.

Write about the following topic:

In the modern world, many employees lack soft skills such as communication and
working in teams.
What are the main causes of this problem? What are the effects of the lack of such skills?

Give reasons for your answer and include any relevant examples from your own
knowledge and experience.

Write at least 250 words.

POSSIBLE ANSWER:



IELTS Writing Task 1
Assessment for Task 1 is based on your ability to:

summarise, organise and compare data where
possible

describe the stages of a process

describe an object or event or explain how
something works

write accurately and coherently

use a range of vocabulary

use a range of grammatical structures.

Checklist

2
3

10

11

12

12
13

14
15

Have you paraphrased the rubric in your
introduction or just copied it?

Have you written a clear overview?

Have you summarised the informaticn and
not just listed every piece of data?

Have you included any information that is
not in the data?

Have you left any important data out?
Have you just listed information or have you
compared it?

Have you divided your answer into clear
paragraphs?

Have you mentioned any striking features?
Have you avoided repetition of words and
structures?

Have you used a range of grammar,
vocabulary and complex structures?

Have you used the correct tenses and verb
form?

Have you used appropriate linking devices
such as adverbs and conjunctions?

Have you checked your writing for mistakes?
Have you completed the task according to
the rubric?

Have you written at least 150 words?

Have you written too many words?

You aren't penalised for writing too

much, but you may be penalised for not
summarising. You don’t need to write more
than about 185 words.

IELTS Writing Task 2

In Task 2 you are given a point of view, an
argument or a problem. Assessment for Task 2 is
based on your ability to:

present and support your opinion
compare and contrast evidence and opinions
write a solution to a problem

evaluate and challenge ideas, evidence or
arguments
write in an appropriate style.

Checklist

10
11

12

13
14

15

Have you paraphrased the question in your
intreduction?

Have you given a clear indication of

the organisation of your answer in the
introduction?

Have you given a clear statement of your
stance/opinion/ position in the introduction?
Have you given a clear statement about the
content of each paragraph?

Have you given reasons and examples as
requested in the nubric?

Have you also developed your ideas by
expressing contrasts, causes, effects,
purposes and conclusions?

Have you written a conclusion? Do all the
paragraphs now fit together well?

Is your answer abstract as required? Or does
it contain personal examples?

Have you divided your answer into

clear paragraphs? Have you written 4/5
paragraphs?

Have you included any irrelevant ideas?
Have you avoided the repetition of words
and structures?

Have you used a range of grammar,
vocabulary and complex structures?

Hawve you checked your writing for mistakes?
Have you completed the task according to
the rubric?

Have you written at least 250 words?
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